UNIT 19: VPs WITH MODAL AUXILIARIES

1.a. Read the text and underline the modal VPs.


Animals in the Wild and in the Zoo
Animals in the wild lead lives of compulsion and necessity within an unforgiving social hierarchy where the supply of fear is high and the supply of food low. You may ask: what is then the meaning of freedom in such a context? Animals in the wild are, in practice, free neither in space nor in time, nor in their personal relations. In theory an animal could pick up and go, flaunting all the social conventions and boundaries proper to its species. But such an event is less likely to happen than for a member of our species. If a man, boldest and most intelligent of creatures, won’t wander from place to place, why would an animal, which is by temperament far more conservative? For that is what animals are, conservative, one might say reactionary. One might even argue that if an animal could choose with intelligence, it would opt for living in a zoo, since the major difference between a zoo and the wild is the absence of enemies and the abundance of food in the first. 

An animal inhabits its place, whether in a zoo or in the wild. The smallest changes can upset it. In the wild, animals stick to the same paths, season after season. In a zoo, if an animal is not in its normal place in its regular posture at the usual hour, it means something. It may be the reflection of nothing more than a minor change in the environment. But it could mean something more – a symptom, perhaps a reason to summon the vet. 

b. Are there other exponents of modality?

c. What is the syntactic function of the modal auxiliary in the VP?

2. Rewrite the following sentences replacing the highlighted lexical exponents of modality with modal verbs.

Example:
Maybe it’s just a big misunderstanding.



It may be just a big misunderstanding.

1. Since children are not born with the knowledge of any particular language, it is necessary that they be exposed to a language in order to learn it.

2. Terrace came to the conclusion that chimpanzees were capable of learning only a few of the most elementary aspects of language.

3. Helen was unable to hear and thus could not receive any auditory feedback; therefore, her own speech was somewhat strange - she spoke in a high-pitched monotone voice.

4. It is possible that Helen’s early language experience in infancy had a beneficial structural effect on her brain and mind.

5. In making beats, people usually move their hands up and down or back and forth.

6. Besides beats, people make another, perhaps more important type of gesture along with speech – the iconic or content gesture.

7. What is crucial is that children know the meaning of what is uttered.
8. The institute issued a report that the Wild Boy of Aveyron was unteachable and gave up on him.
9. The Internet is bound to play a dominant role in shaping the emergent varieties of English.

10. She says it is not likely that chimps can talk about their dreams or tell us about how it feels to be a chimp.

	CONCLUSION
	
	Analytical finite VPs can be made up of modal auxiliary + main V, where the former functions as ……………….. In addition to its structural role, a modal verb adds a conceptual meaning of its own to the lexical meaning of the ………………..verb. Modality can also be expressed with …………… means.



MODAL VERBS

There are two types of modal verbs: central (can, could, may, might, will, would, shall, should, must) and semi-modal (be able to, have to, be going to, need to, ought to, etc.). Central modal verbs deviate morphologically from the grammatical paradigm of lexical verbs; they are characterised by a set of specific properties (NICE). Semi-modals are multi-word constructions that function like central modal verbs and replace them in some cases. Morphosyntactically they behave as regular expressions and can be marked for all verbal categories in English. 

3.a. Compare the following pairs and say how auxiliaries differ from full verbs.
Bill speaks several languages.   vs.
 Bill can speak several languages.

I do not speak Japanese.
    vs.
 I cannot speak Japanese. 

Do you speak Arabic?                vs.     Can you speak Arabic?
I want to go to Paris. 
                vs. 
 I can go to Paris
 

b. Describe the distinctive characteristics of modal auxiliaries.

4. Fill in the gaps with suitable central modal auxiliaries or semi-modals following the instructions in brackets.
1. Lana, the computer chimp, had to press certain keys in the right sequence to make requests, like “Please machine give milk” or “Please Tim give ball”. (past + obligation)

2. Itard …………..not explain why Victor …………..acquire reading and writing but not speech. (past + ability).

3. In order for a child to learn the meaning of the sound form of a word, the child ………………first hear that word spoken by others. (present + obligation)

4. Huttenlocher studied four children and found that they ………………understand speech at a level well beyond that to which they had progressed in production (past + ability).

5. Like Christopher Nolan, there are a great many other people who are born with little control of their body but who do learn to understand speech, although they …………..not…………….produce any without difficulty. (present + probability, ability)

6. The optimism of the 1960s turned sour in the 1970s when Terrace, a psychologist who was an early enthusiast of chimps’ ………………learn sign language, got negative results (ability).

7. The fact that Helen took so long to learn her first word …………….indicate that her pre-illness exposure to language was of minimal benefit (present + lower probability).

8. If a child says “banana” only when seeing or touching that object, then we ……………consider that the child knows that word (present + lower probability).

	CONCLUSION
	
	Unlike lexical verbs, modal verbs have a ………………. paradigm. They do not take inflections for ………………… They  …………..”not” in negative sentences, ……………the subject in yes-no questions, and combine with ……………… infinitive. 

There are two types of modal auxiliaries -  …………….. and  ……………………..



STRUCTURE OF MODAL VPS

Even though unmarked for tense, some modal verbs can express time contrasts and others need to be replaced by their semi-modal alternatives to mark this. As parts of analytical VPs, they can also combine with the categories of progressive aspect, perfect aspect (correlation) and voice. 

5. Define the time reference of the VPs in the following sentences. 
1.a. Can you tell where the National Theatre is?

   b. Could you tell me how to get to the National Theatre?

2.a. According to the weatherman, it may rain.

   b. According to the weather forecast, it might snow.

3. When Jonathan lived in France, he could speak French fluently, but now, twenty years later, he can only say a few phrases.

4. I wish my brother would come to our parents’ anniversary because if he doesn’t, they will feel unhappy.

5. Everyday local fishermen would roam coastal fisheries but rarely would they come loaded and happy.

6. You had better not tell Joan about the upcoming anniversary celebration. Peter can’t stand her.

6.a. When modal verbs combine with perfect aspect (correlation), they produce analytical VPs with past time reference (mod + have +V-en). Match sentences in A with meanings from B.

A

1. Students should have submitted their term papers long ago.

2. Arsinella has not come yet. She might have forgotten the time of the meeting.

3. The door is locked. The secretary must have left the office.

4. Jim ought to have quit smoking as soon as the doctor told him about his heart problem.

5. They can’t have gone too far; the neighbours saw them half an hour ago.

6. Let’s find out where they could have crossed the river.

B 

a. certainty 




b. impossibility

c. lower probability 

d. moral obligation (fulfilled or unfulfilled)
e. unfulfilled obligation

f. possibility

b. Translate them into Bulgarian.

7. Complete the following sentences, combining the given modal verb with the progressive aspect of a suitable main verb (mod + be + V-ing).

1. May I ask what you will …be doing………………………………next weekend.

2. We shall ……………………………………with our former colleagues in the cafeteria.

3. While the parents are watching television, their children might …………………in the nursery.

4. The teacher says that we’ve got to ……….……………………………..like that.

5. Will you …………………………………………………..in the yard after classes?

6. They can’t…………………………………….. in the lab  – there is no one there.

7. While driving a car, you should ……………………………………in .the rear-view mirror.

8. Modals are commonly used with the passive voice (mod + be + V-en) in academic prose. Render all modal VPs in the text below into the passive voice. 
Sicard’s mission in life was the education of the deaf. He demonstrated that people could teach many such children to communicate in sign language. He was eager, therefore, to apply his methods on Victor. He insisted that isolation might have caused the Wild Boy’s lack of speech. However, he can’t have possibly tested his hypothesis as there were no brain-imaging devices in those days. Whether or not Victor suffered from brain damage is something that no one can ever know. They should have preserved his brain, so that today there was a possibility of examining it for abnormalities.
NEGATION AND MODALITY

Negation combines with modal VPs in a complex way. It can combine with the meaning of the modal operator, the lexical meaning of the main verb, or both.

9. Translate into English.

1. Телефонът звъни. 

    a. Не мога да се обадя – в банята съм.

    b. Мога да се обадя, мога и да не се обадя.

    c. Не мога да не се обадя. 


2. Кучето не може да спи върху дивана. Ще го изцапа.

3. Това не може да е истина.

4. А: Иван може да не дойде на сбирката.

    В: Не може да не дойде. Той е председател на дружеството.

5. А: Защо закъсня? Сбирката започна.

    В: Трябваше да направя достатъчно копия от доклада за всички присъстващи. 

6. Не трябваше да им казваш, че могат да пращат домашните си задания и по електронната поща.

7. Когато казваш истината, не е нужно да викаш.
 

8. Не трябваше да слагам палто. Сега ми е горещо.

10. Write negative sentences using the information in brackets.

1. I …………………(NOT tell) you what his new address is. (ability)

2. They say the visiting team ………………. (NOT win). (prediction)

3. John ………………..(NOT cheat) at the exam yesterday. (possibility) 

4. You ……………… (NOT use) your cell phone in class. (obligation)

5. The lights in the lab are on. They ……………. (NOT finish) yet. (probability)

6. Hotel guests ………………………….(NOT pay) in advance. (weak obligation)

7. I’m telling you, he ……………………(NOT do) it unless paid. (intention)

8. You ………………(NOT leave) without talking to the boss. (permission)

11. Translate into English.

Младите хора трябва да полагат повече грижи за здравето си. Миналия месец на един мой колега му се наложи да постъпи в болница заради проблеми със сърцето си. Не можеше да изкачва стълбите в университета. Трябваше да вземе мерки на време. Можеше да избегне усложненията. Сега не трябва да пуши, не трябва да пие и не трябва да яде тлъсто. Можете ли да си представите как се чувства? Добре че не му се налага да прекъсне следването. 

В пресата всеки ден пише за здравословния начин на живот. Можете да намерите полезни съвети и за здравословното хранене. Трябва да ядем повече плодове и зеленчуци и редовно да спортуваме. Не знам дали бих издържал на такъв режим. Сигурно щях да си мечтая за хамбургери и чипс. 

	CONCLUSION
	
	Modal auxiliaries can combine with: …………………………., ………………………... and ……………………. Thus the meaning of the VP becomes extremely complex and context-specific.




ADDITIONAL PRACTICE – UNIT 19
1. Complete the following with suitable modals or semi-modals:

Visa regulations
If one asks: “ Do I ………….. A Visa When I Go On Holiday To USA? ”, the answer is: “Yes of course, even an apparently non-technical and goodwill ground like travel and tourism is not above the strong regulation of the US visa authorities”. 

Eligibility for Application : 
There are various criteria for applying for the holiday visa to the US. Such as: 

  The visit ………… be visit/tourist or medical treatment activities related 

  The visitor………… have a residence outside the US and …….. return to his/her home country after the stay in the US. 

  The visitor ……….. to stay up to six months initially. Thereafter he/she can apply for an extension of stay (generally for another six months) 

  If the applicant ……………as a citizen of a country under the Visa Waiver program, he/she ………….. stay in the US for up to 90 days without a visa. 

Procedure of Application : 
  While the applicant in many countries ……………. apply directly on spot at the US Consulate or US Embassy, in some other countries he/she …………. to make an appointment for application. 

  The visitor ……………. go to the US consulate/embassy of his/her home country abroad and fill out the optional forms of type DS (such as: DS-156, DS-157, and the like) 

  If the visitor …………..  support himself/herself while in the United States, he/she ……………… to prove that somebody in the US could extend support to him/her. In this regard, the tourist has to fill out a specific form (I-134) Affidavit of Support. 

  The applicant …………. submit a valid passport, photographs and other documents proving his/her intent to return to the home country. 

  The applicant …………  to appear for an interview with the consulate 

  If the applicant is accompanied by relatives, a separate visa application …………..  be made for them 

  If all is approved, the visa ………….  be delivered and if denied, the applicant ……………  provide additional evidence for support. 
2. Peter is a young boy with not particularly good working habits and bad manners. He works as a librarian at the department’s resource center. Comment on each of the following situations in terms of:

a) what went wrong
b) what he was supposed to do

c) what he should have done
1. Peter came to work dressed in a torn black T-shirt.

2. Peter was extremely rude to a new customer.

3. Peter loaned a book from the reference section to a friend of his.

4. Peter broke a video-tape a lecturer wanted his students to view.

5. Peter forgot to set the alarm on on leaving the library on Friday night.

6. Peter played computer games on the central computer in the library.

7. Peter came to work at noon explaining his car had broken down. 
3.  Edit the following text inserting suitable modals to make the text more tentative. 

Humanity is defined by looking into each other’s eyes and seeing one’s own reflection. Civilization is a living orchestra in which mankind’s diversity is  harmonized like a symphony of various instruments.

Soren Aakye Kierkegaard said that " Life is only to be understood backwards; but it is lived forwards".

What does this mean? It means that we  look into the past for guidance, since the past is our stable point of reference, and thus avoid past errors. 

Without Spirituality there is neither humanity nor civilization. Spirituality is the direct communication between our conscience and the essence of the outside world. There is  no compromise or shield of justification for our bad deeds.

It is assumable that we are not aware of this principle. We find a way to reveal it in a framework that is understood. It is ridiculous to claim that we fully understand the workings of the universe. However we make an effort and strain our minds a bit to question the seeming and challenge the obvious. We never leave our brains idle. As only one language is not accepted as the sole means of communication, so a single explanation doesn’t satisfy the intellectually curious. Explanations are diversified to meet the needs of a multi-cultural humanity with laterally thinking minds. We never trust our senses. We use our reasoning capacities. 
4. Fill in the gaps with appropriate modal verbs.

1. At first, my boss didn't want to hire my boyfriend’s brother George. I had previously worked with George and I told my boss that he ………. take another look at his resume and reconsider him for the position.
2. You …………. take along some cash. The restaurant ……….not accept credit cards.
3. The machine ……… be turned on by flipping this switch.
4. I ……….. stand these people - I ………..to get out of here. I'm going to take off for awhile while you get rid of them.
5. You ………….. not forget to pay the electricity bill. The electricity company is very strict.
6. Do you always ……… say the first thing that pops into your head. …….. you think once in a while before you speak?
7. Mary and Claire said they ……….. come over right after work, so they ………. be here by 7.30.
8. Yesterday, I ……… revise all day for my syntax test. I didn't get a wink of sleep.
9. We ……….. no longer put up with the frivolous behaviour of our boss. Justice…… be ours!
10. The lamp ……. not be broken. Maybe the light bulb just burned out.  

5. Connect each modal in the box with a possible explanation of its specific meaning:
needed to     should have   shouldn’t have  didn’t need to  needn’t have     

1.  action was not necessary, but has already been taken anyway

2.  action was necessary or obligatory, and it was wrong not to have taken it

3.  action was not necessary, or was prohibited, and it was wrong to have taken it

4.  action was not necessary, and may or may not have been taken subsequently

5.  action was necessary and may or may not have been taken subsequently

6. Use needed to, didn’t need to, should have, needn’t have or shouldn’t have:
1.  The policeman was furious with me and said the I …. (drive) so fast in a residential area.

2.  I …(take) the parcel to the Post Office because Sonja very kindly took it for me.

3.  We discovered when we arrived on the island that we … (book) in advance as there was nowhere to stay.

4.  Although we ….(have) comprehensive insurance, we got it anyway just to be on the safe side.

5.  He told the taxi driver he … (reach) the airport as quickly as possible, as the plane was due to lave soon.

6.  I … (spend) so much time worrying about the test, because in the end it was really easy and I passed the first time.

6. Use needed to, didn’t need to, should have, needn’t have or shouldn’t have:
7.  The policeman was furious with me and said the I …. (drive) so fast in a residential area.

8.  I …(take) the parcel to the Post Office because Sonja very kindly took it for me.

9.  We discovered when we arrived on the island that we … (book) in advance as there was nowhere to stay.

10.  Although we ….(have) comprehensive insurance, we got it anyway just to be on the safe side.

11.  He told the taxi driver he … (reach) the airport as quickly as possible, as the plane was due to lave soon.

12.  I … (spend) so much time worrying about the test, because in the end it was really easy and I passed the first time.

7. Translate the following text into English
Не можех да намеря пътя 
Посред бял ден се случи. Не за мен, разбира се. Аз не виждам, но виждат ли тези които имат очи?  Наобиколиха ме, дюдюкаха и се кискаха. Един се опита да ме препъне. Можех и да забия юмрук в брадата му, точно. Овладях се, дори се опитах да вляза в диалог с тях. На няколко пъти напомних, че не виждам. Ако можех щях да хленча, но не съм го правил никога. Доста дълго продължи. Блъскаха ме, кикотеха се, говореха цинизми, упрекваха ме, че те плащат данъци за да живея. Не бяха сериозни, но не можеха и да се шегуват. Накрая ми взеха мобилният телефон и бастуна и ме пуснаха да си вървя по живо по здраво. Без бастун можех да се оправя донякъде, но без телефона точно сега щях да се затрудня. Накарах да ме преведат до парка едни приятели и да ме оставят. Исках да се поразходя сам. Да се отпусна на мислите си, това е единственият начин да видя цветове. Пролет са най-много. Тези бяха по-малки и от мен. Едва ли имаха и осемнадесет, аз след месец навършвам двадесет и една. Разкъсваше ме ярост. Не бих заменил с ничий живота си, но чувството за безсилие ме разкъсваше, сега. Дано да се срещна случайно с някой познат. Дано. Иначе не знам какво ще се случи. Сигурно ще нощувам по пейките, а страшно ми мирише на дъжд и ще завали. И то порой. Никога не греша. Ще помоля някой да ми даде мобилния си телефон за да се обадя на майка да ме прибере. Друго не минава през ума ми. Нашите и не подозират, че съм на открито, а прекарах тежък грип. Трябваше даже да спра цигарите. Не, не мога да остана под дъжда. Колкото и да съм свит, ще трябва да поискам от някой телефон.







СТЕФАН ДИМИТРОВ КРЪСТЕВ
Language enables people not only to talk about actual events but to describe them as possible, probable or necessary. A speaker can give permission or forbid the performance of certain activities. Speakers can also evaluate activities in terms of ability, obligation, and volition. The system of choices through which a speaker can do all this is the lexico-grammatical category of modality. 
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